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NEW QUESTION 1
When automatically generating an ADF form from a human task, the difference between using the "Auto- Generate Task Form" and the "Launch Task Form
Wizard" is that the .

A. "Launch Task Form Wizard" option launches a six-step "BPM Custom Form Wizard" and the "Auto- Generate" option creates the ADF project, task flow, and
ADF form with one key click
B. "Launch Task Form Wizard" option does not create a new ADF project every time it is run
C. "Auto-Generate" option gives you the choice to use an existing ADF page template as the form is being created.
D. "Launch Task Form Wizard" option automatically creates an ADF page template and task flow template

Answer: D

NEW QUESTION 2
Which statement is true about using a data-first approach in the Web Form Designer?

A. The process must already have an object-based process variable created.
B. The human task must already have an object-based data element defined.
C. A corresponding process data object is automatically created and mapped into and out of the human task.
D. As widgets are dragged onto the form from the palette, the form's underlying XSD is automatically updated.

Answer: C

NEW QUESTION 3
Which two product features might a process analyst use the most in contrast to a process developer? (Choose two.)

A. Process simulation.
B. Business rules.
C. Mediator services.
D. Web Forms.
E. BPM Studio.
F. ADF forms.

Answer: AD

NEW QUESTION 4
Which three options are human task patterns that cause the token to wait in the calling process until the human task is completed? (Choose three.)

A. FYI
B. Initiator
C. Management
D. Manual
E. Group

Answer: BCE

Explanation: 
 Pattern Description

Reference: https://docs.oracle.com/middleware/1213/bpm/bp-composer-user/app_bpmn_ref_bpmcu.htm#BPMCU87357

NEW QUESTION 5
Which two statements are true about using project data objects? (Choose two.)

A. Any process in the project can access a project data object.
B. The value of a project data object does not vary between processes.
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C. Project data objects can be used only as input arguments to a process.
D. Project data objects can be used in data associations and expressions.

Answer: AD

NEW QUESTION 6
You have a situation where a collection of rules might provide a flexible way of externalizing logic in an application.
Which two are accurate considerations to access as you decide to use a decision table or if-then rules? (Choose two.)

A. The decision table's spreadsheet metaphor is compact and familiar to end users.
B. Decision tables can use globals while if-then rules cannot.
C. The logic likely requires more rules if expressed as a decision table.
D. Unlike with a decision table, an Expression Builder is provided for if-then rules to help you craft condition expressions.
E. Built-in error prevention features for decision tables can help you build more complete and accurate rules.

Answer: BE

NEW QUESTION 7
In which two tools can you explore the path taken by a running process instance? (Choose two.)

A. Enterprise Manager
B. Process Composer
C. Weblogic Console
D. Business Process Workspace

Answer: AD

NEW QUESTION 8
To establish the integration between BPM Suite and BAM 12c, you need to .

A. do nothing as they are integrated out-of-the-box
B. set the DisableProcessMetricsMBean setting to false on the SOA server
C. set the DisableProcessMetricsMBean setting to false on the BAM server
D. set the DisableMonitorExpressMBean setting to false on the SOA server

Answer: B

NEW QUESTION 9
Which is a capability of Web Form rules?

A. altering execution of an unbounded ADF task flow
B. inserting validation rules into an ADF page that a BPM Studio wizard has generated
C. encoding-business policies that can be easily modified by end users at run time
D. populating a dynamic drop-down list by accessing a RESTful service

Answer: D

NEW QUESTION 10
Which two statements are true about running and analyzing simu-lation results? (Choose two.)

A. You must wait until a simulation run finishes in order to see up-to-date results in charts.
B. During a simulation run, in-flight instances are always allowed to finish before a simulation completes.
C. During a simulation run, cost and time data are automatically collected for all activities, events, and gateways.
D. You can use only Business Process Composer to create and run simulations.
E. The number appearing above the left-most bar atop an activity represents the high water mark for the queue.

Answer: BD

Explanation: 

In Business Process Composer you can only run simulations based on test data you define using Business Process Composer.

NEW QUESTION 10
Which statement is accurate about verbal rules and business phrases?

A. Verbal ruled can be created in Business Process Composer, but not in BPM Studio.
B. For a particular verbal rule, conditions and actions can include derived business phrases or user- defined business phrases, but not both.
C. Derived business phrases are automatically created by using facts and globals in the rules dictionary.
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D. Verbal rules must be created in a separate ruleset from general rules and decision tables.

Answer: BC

NEW QUESTION 15
Which two statements accurately explain how the Call activity behaves in a BPMN model? (Choose two.)

A. When using a Call activity to invoke a reusable process, the data object values of the calling process are automatically made available to the called process.
B. The Call activity can invoke a reusable process from within the current process
C. If the process is to be invoked by a Call activity, the called process must start with one None Start Event.
D. At a Call activity, the calling process does not wait until the called process or subprocess returns.

Answer: BC

Explanation: 
 The call activity allows you to call a reusable process from within the current process.
Reference: https://docs.oracle.com/middleware/1213/bpm/bp-composer-user/app_bpmn_ref_bpmcu.htm#BPMCU87375

NEW QUESTION 17
Which human task pattern is best suited for a single approver scenario where the role is resolved through group membership? (Choose two.)

A. User
B. Group
C. Initiator
D. FYI
E. Management

Answer: A

Explanation: 
 Single Approver: Use this option for a single user to act on a task. If the task is assigned to a role or group with multiple users, then one member must claim the
task and act on it.
Reference: http://docs.oracle.com/cd/E28280_01/user.1111/e15175/bpmug_ws_perform_tasks.htm

NEW QUESTION 22
Value chain models allow you to specify more details about a process area that may have been identified in an enterprise map. Which two statements are true
about how the details are specified in a value chain model? (Choose two.)

A. A value chain model is the starting point for process decomposition in business architecture modeling.
B. A step can be broken down into a separate value chain model to create a hierarchical group of value chain models.
C. It documents goals, objectives, and strategies for a business area.
D. A step can be linked to a BPMN process model.
E. There is typically just one value chain model for an entire organization.

Answer: B

Explanation: 
 Reference: http://docs.oracle.com/middleware/1213/bpm/bp-composer-user/ba_project_bpmcu.htm#BPMCU99994 (4.1.2)

NEW QUESTION 26
Identify the gateway type that disallows an outgoing conditional path.

A. Exclusive
B. Inclusive
C. Parallel
D. Complex

Answer: C

Explanation: 
 A Parallel Gateway creates parallel paths without checking any conditions; each outgoing Sequence Flow receives a token upon execution of this Gateway
Reference: http://training-course- material.com/training/BPMN_2.0_Gateways#Parallel_Gateway (See Parallel Gateway, 2nd line).

NEW QUESTION 28
The process payload, including customer name and order ID, is stored based on a single XSD- based data object and the human tasks in the process use this
XSD definition. End users need to see the customer name and the order ID as columns in their default inbox task list.
Which three approaches best accomplish this requirement? (Choose three.)

A. Either public or protected flex fields can be used to displays the customer name and order ID without having to add additional process payload data objects.
B. Public flex fields can be used if two new simple data elements, representing the customer name and order ID, are added to the human task's list of data objects.
C. Public flex fields can be used if two new simple process payload data objects, representing the customer name and order ID, are first added.
D. Public flex fields can be used only if they have first been created in the workspace and the two have been added as mapped attributes in the human tasks.
E. No changes to the human task's incoming data or data associations are necessary if protected flex fields are used.

Answer: ABE
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NEW QUESTION 30
Which two statements are true for decision table rules? (Choose two.)

A. They can have multiple conditions, but share only one action.
B. They typically contain a set of rules that covers all combinations or where no two combinations conflict.
C. Both gap detection and conflict resolution cannot be turned off at the same time.
D. A priority can be set for an entire decision table.

Answer: BD

Explanation: 
 A Decision Table is an alternative business rule format that is more compact and intuitive when many rules are required to analyze many combinations of property
values. You can use a Decision Table to create a set of rules that covers all combinations or where no two combinations conflict.
Reference: http://docs.oracle.com/middleware/1213/bpm/bp-composer-user/business_rules_bpmcu.htm#BPMCU495

NEW QUESTION 33
Which two statements are true about out-of-the-box metrics support in BPM Suite? (Choose two.)

A. If you want to know average time spent in each activity in your process, you can look at the workload per process dashboard in Business Process Workspace.
B. By default, in standard dashboards that display data about in-flight instances, there is a 30- minute delay before up-to-date data appear in the charts.
C. You can only view out-of-the-box metrics in charts created in Business Process Workspace.
D. During process execution, when a sampling point is reached, the BPMN Service Engine collects all standard process metrics that are prespecified out-of-the-
box.

Answer: CD

NEW QUESTION 38
Which two statements accurately identify capabilities available for rules testing? (Choose two.)

A. You can create a test suite or a test template without first creating a design function.
B. You can test rulesets by creating a business rules function that calls the decision function.
C. You can use Enterprise Manager to test rules via a decision function.
D. You can mark individual test suites as "draft" to turn them off for test validation.

Answer: BD

Explanation: 
 You can test rulesets by creating a decision function and calling the decision function from Rules Designer with an Oracle Business Rules function.
Draft Test check box to turn off the test validation.
Reference: http://docs.oracle.com/middleware/1213/bpm/rules-user/testing.htm#ASRUG982

NEW QUESTION 40
Which two statements are true about configuring service tasks? (Choose two.)

A. A service task can be configured to invoke a process or service asynchronously.
B. Although you call a file adapter as a service from your BPMN diagram, no linkage between your BPMN process and the external reference appears in the SOA
Composite Editor.
C. You can invoke a BPEL process by using a service task.
D. The implementation of a service task can be either a process call or a service call.

Answer: BC

NEW QUESTION 45
Which two statements are true about BPM Suite product architecture? (Choose two.)

A. The Process Asset Manager is a container of reusable, shared, implementation assets available to all processes within a BPM project.
B. Business architecture modeling is supported by a third-party product that Oracle resells as part of the BPM Suite 12c product family.
C. BPM Suite leverages SOA Suite infrastructure and tooling to support key design-time and run-time features.
D. case Management is an Oracle add-on product to add adaptive case management support to BPM Suite.
E. BPM Suite supports BPMN process modeling notation in both BPM Process Composer and BPM Studio.

Answer: AD

NEW QUESTION 46
Which statement is true about BPM Suite’s round trip simu-lation feature?

A. Round trip simulation is a feature of a Process Player.
B. Basing a simulation on actual process runtime data can help you find bottlenecks in a process model.
C. Unit test suites can be automatically generated based upon round trip simulation data.
D. During round trip simulation generation, process bottlenecks are identified and highlighted on the model.

Answer: B

NEW QUESTION 48
Which statement is true about a case activity that is defined as “Automatic” and “Conditional”?
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A. The activity is run automatically as soon as the case starts.
B. The activity is run by the system only after it is initiated by the user.
C. The activity is automatically run by the system as soon asit is activated by a case rule.
D. Only a BPMN case activity can be defined as “Automatic” and “Conditional”.

Answer: B

NEW QUESTION 50
Which two statements are accurate about how ADF Business Components can be used in a task flow for a human task? (Choose two.)

A. They can create and insert a new row in a database table.
B. They can invoke wildcard control flow rules in the task flow.
C. They can initialize the information displayed on a form when given an ID from the process payload.
D. They can declaratively map database information back into the process payload.
E. They can invoke task flow call activities.

Answer: BE

NEW QUESTION 51
Which two modeling approaches could be used to handle exceptions thrown by a service? (Choose two.)

A. subprocess
B. event subprocess
C. error and event
D. error catch event as a boundary event on the service task

Answer: BD

Explanation: 
 You can handle the exceptions that occur in an activity using the following: *A boundary error catch event *An event subprocessBoundary error catch events
enable you to resume the main process flow after handling theexception.If you want to reuse the exception handling flow for multiple tasks in your process, then
eventsubprocesses are more efficient than boundary catch events. Event subprocesses enable you todefine a cleaner process with less effort because the catch
error event is located within the eventsubprocess. To reuse an exception handling flow using boundary catch events, you must define aboundary catch event for
each of the tasks, and then connect those boundary events to theexception handling flow.

NEW QUESTION 52
Which two statements are true about the defined Oracle JMS Adapter outbound connection?

A. It supports connections to JMS distributed queues.
B. It uses default credentials when connecting to the remote JMS provider.
C. It supports zero message loss via distributed transactions.
D. It requires the JMS consumer to explicitly commit transactions.

Answer: AB

Explanation: 
 Reference: http://docs.oracle.com/cd/E23943_01/web.1111/e15493/prog_details.htm

NEW QUESTION 56
Which statement is true about the skip condition in a BPEL activity?

A. The activity gets executed hen the skip condition expression evaluates toTrue.
B. The skip condition expression is evaluated before the activity instance is created.
C. The activity gets executed when the skip condition expression evaluates toFalse.
D. The activity gets executed when the skip condition expression throws a fault.

Answer: C

Explanation: 
 Reference: https://docs.oracle.com/cd/E14571_01/dev.1111/e10224/bp_conditn.htm

NEW QUESTION 57
Which statement accurately describes event-driven architecture?

A. It is a design approach that fosters creation of distinct pieces of software where each piece is a self-contained unit of functionality.
B. It is a programing paradigm that views processing as evaluation of functions without regard for application state.
C. it is a style of building software that specifies logic without describing its control flow.
D. It is an approach focusing on the production, detection, and consumption of potentially significant state changes.

Answer: C

NEW QUESTION 60
......
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